Фамилия Имя ___________________________________________

Самостоятельная работа «Арктангенс. Арккотангенс»

Вариант 1

1. Вычислите:

	а) arctg 1 =_____________
	б) arcctg    0 = ___________
	 в) arctg 
[image: image1.emf]√

3

= __________

	г) arcctg   (-
[image: image2.emf]√

3

) = _______

______________________


	д) arctg (-
[image: image3.emf]√

3

3

)=_________

________________________
	и) arcctg 
[image: image4.emf]√

3

3

=__________

	к) arctg 
[image: image5.emf]√

3

3

=___________
	л) arcctg (-
[image: image6.emf]√

3

3

)=

________________________
	м) arctg (-1)= ____________

________________________


2.Найдите значения выражений:

	а) 4 arctg 0 + 2 arcctg 
[image: image7.emf]√

3

3

=

______________________________________
	б) -3 arcctg (- 
[image: image8.emf]√

3

) - 5 arctg (-
[image: image9.emf]√

3

)=

______________________________________

	в)  0,5 arctg (-
[image: image10.emf]√

3

3

) - 6 arcctg (-
[image: image11.emf]√

3

3

)=

______________________________________
	г) -7 arcctg (-1) + 0,4  arctg 
[image: image12.emf]√

3

3

=

______________________________________


3.Сравните:

	а) arctg (-
[image: image13.emf]√

3

)  ___  arcctg (-
[image: image14.emf]√

3

)
______________________________________
	б) arctg 
[image: image15.emf]√

3

3

  ___ arcctg (-
[image: image16.emf]√

3

3

)

______________________________________


Оценка:___________
Фамилия Имя ___________________________________________

Самостоятельная работа «Арктангенс. Арккотангенс»

Вариант 2

1. Вычислите:

	а) arcctg 1=____________
	б)  arctg 0=_______________
	 в) arcctg 
[image: image17.emf]√

3

=__________

	г) arctg (-
[image: image18.emf]√

3

)=__________

_________________________
	д) arcctg (-
[image: image19.emf]√

3

3

)=________

_________________________
	и) arctg
[image: image20.emf]√

3

3

=____________

	к) arcctg 
[image: image21.emf]√

3

3

=___________
	л) arctg  (-
[image: image22.emf]√

3

3

)=_________

________________________
	м) arcctg (-1)=____________

________________________


2. Найдите значения выражений:

	а) 4 arcctg 0 + 2 arctg 
[image: image23.emf]√

3

3

=

______________________________________
	б) -3 arctg (- 
[image: image24.emf]√

3

3

) - 5 arcctg (-
[image: image25.emf]√

3

3

)=

______________________________________

	в)  0,5 arcctg(-
[image: image26.emf]√

3

) - 6 arctg (-
[image: image27.emf]√

3

)=
______________________________________
	г) -7 arctg (-1) + 0,4  arcctg 
[image: image28.emf]√

3

3

=

______________________________________


3.Сравните:

	а) arcctg (-
[image: image29.emf]√

3

3

) ____  arctg (-
[image: image30.emf]√

3

3

)

______________________________________
	б) arcctg 
[image: image31.emf]√

3

___ arctg (-
[image: image32.emf]√

3

)
______________________________________


Оценка:___________
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